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CANDIDATE COMMITTEE - QUESTIONS

February 27, 1850

The background of the split
The reasons for the split

Why the EC feels thal the conflict is irreconcilable and necessitotes
the formation of two groups.

Wkether the BEC feels that the scientific and personal differentes are
completely unbridgable.

Question of split being based on personality clashes rather than on
scientific differences.

Is there any basis on which the two groups mizht get together?
What is the relation of the EC of the Institute to the Society?

If two institutes are set up whether the individual candidates can
take courses in both institutes end how this will be arranged.

Cen an individual do control amalyses with the training analysts of the %
other institute?

If there are two societies will it be possible to have membership in B
botk societies?

Vhat does the EC feel are the scientific differences that are so important?

12.

Re Greenson's statement to the candidates re the inadvidability of having
representative attend this meesting because of transference, Dr, Mindlin

said it is felt by the candidates, including Greenson's, that this is an objective
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situation whick creates so much reality for the candidates that they feel this
meeting is important,
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